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| in human body which one of the followings stores minerals .»rrﬁ,ésggyufc_utd,wp‘;ﬁéw -1
Kidney ./ (D) Muscles #* (C)  Brain {bs (B)  Bones UL} (A)

Reproduction takes place through budding in 4_bfcff5’,§.1%.15£j % -2
v Bacteria | ,g‘? (D) Hydra L4} (C) Amoeba k! (B) Planaria | /33& (A)

Water is required for reproduction by :,:,(jn.:w/ﬂf Ggé.ﬁw’ggwf ------------------ auﬁu:){éf{.: -3

Mosses » (D) -Gymnosperms f/,"i’ (C) Femns //’ (B) Angiosperms )'/;';5'! (A)

Number of homologus chromosome pairs is +;W'Ju:3££f#,fﬂfxwu0l -4
48 (D) 23 (€) 24 (B) 22 (A)

DNA back bone is formed of .;_Jnuzbg&.wds 5
Phosphate - Sugar J/#ed6 (B) DNA - RNA (Setofl Tl tZiS3 (A)
DNA-DNA et} < lefi§5 (D)  DNA - Protein (eksgaseticfis (C)

Which of the foliowings is not eaten by other animals ? Z.If;ﬁi)l_rg/mﬂwlﬁjf -6
Producers Jsgky (B) Tertiary consumers M{/“/‘ (A)
Primary consumers J/{‘/"Zﬁfl{ (D) Secondary consumers J/,i'/'(daié (C)

Nitritos are converted into nitrates by &b /{QUI;LfJ_iui(fi}"tfuyl/"t, <
Denitrifying bacteria | }R.f IJW}"MS (B) S. pneumonae dl(:}r’_.:.ﬁ'-' (A)
Nitrobactor )G,;v’ t (D) Nitrosomonas Jt¥»s#t (C)

Out of the followings , antiviral protein is .5:_‘-)»:-:4J?u'}l3, -8

Beta - endorphin .jl,,‘ql-c; (D) Thymosin 017 (C) Urokinase ¥y (B) Interpherons S £ (A)

Heroin is obtained from q_&(ﬂfg}" ﬁrg;fwc_gﬂ -9
Fungi @JQ (D) Cactus :..gfg( (C) Morphine ;c)ézl (B) Animals ¢_u:u]l.' (A)

Amount of nitrogen in inspired air is 4.8nJWJcﬁ;}'tuﬁlndbé_mfbu.’.()'éw -10
16 % (D) 79% (C) 0.04 % {B) 21 % (A)

Gums are obtained from u}L.ﬁJ‘bf -1
Keekar J (B) Rubber plant “ﬁgﬁﬁz/ (A)
Coniferous plant :..J/Gf (D) Ladyfinger c..:_.:gédiz (©)

Total number of cranial nerves is .......ccu... G e :W’;f))]&)ﬂlﬁgbb 12

12 (D) 26 (C) 31(B) 33 (A)
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Q.No.2 Write short answers of any Five of the following 5x2= 10 i{/’ubli/"ﬁ"il ét c..uﬁ‘bb» Z/Ulr

How structure of trachea is different from bronchi ? { q.ﬂc‘_rc.uéhmﬁu JI/J b(/ i

Differentiate between cellular respiration and breathing é{/f)/\ﬂﬁ;lu’v’ /fwﬁr i

How we can protect ourselves from lung cancer ? ¢ u!é@{(fc./‘{ﬁu:%ﬁ iii
Define osmoregulation zlf_gﬂfu’-%ﬂ iv
How kidney stones are formed ? g ;.G;'é‘:dﬁ(ﬁ_;f v
Why deficiency of vitamin A causes poor night vision ? ¢ Euﬂ?u.{ Jt.G.{f‘f:.m—.{JuJ bal wi
Define optics and ophthaimology 2‘{4}.{!6):““ i | vii

¢ P Lbasb SIRL A s srhr gt | vii
How calcitonin and parathormone hormones regulate level of calcium ions in blood ?

Q. No.3 Write short answers of any Five of the following ~ 5x2=10 &5,z L2 Sl tditn 340

Differentiate the Spongy and Cqmpact bone ¢ q.u/{ﬁ)-‘.uiw?;lfx‘ i
Define Skeleton é...gl /{Q..W ii
. z &
Why water is necessary for seed germination ? ¢ q_du/"uﬁz_éu’g}(f Bdy| i
What is Spermatogenesis ? T q.k(u"‘y}"/ iv
Write four names of nitrogenous bases in DNA molecule 4%!7& AT bbuﬁdzﬂée_.uld! v
What is meant by incomplete dominance ? s q.:l/yfc._u‘a:ﬂ;t vi
What is a monohybrid cross ? < Pyg&;uuiyéyir vii

State the law of segregation éfd Jﬂ{u’-"/ﬁﬂu viii

Q.No.4 Write short answers of any Five of the following 5%x2=10 é//’a&?ﬁédﬂéta‘ﬂdlbp /Jlr

Write two bad effects of acid rain Ju!/lz..w":qu/l i
Write the difference between secondary and tertiary consumers ,4“’-55;‘051/{}{(5//»!}/9"31}2 ii
What are phytoplankton ? What is their role in ecosystem ? T +J‘J/ k( b’un}ff"’ ; R u‘LxQ’uhClg!.‘Ii iii

quzf/(;ﬂJ/J) ' ¥24 ﬁﬂrtﬁ-u»gw»a/b’ﬁg iv

Write the names of few carnivorous plants which lives as predators

What is a fermenter ? S gL v
Why the use of single cell protein is essential in future ? f q.d;s/'U{dWWJ:{J‘Jﬁ’J&V vi
Write the bad effects of sedative drugs 2! al}lazgrf_}c‘b‘.’.fr vii
What is a drug ? ) ujﬁféum viii
(PART Ii ) pgd draa
NOTE : Attempt any two questions from this part 9x2=18 é,//’.;guzf_d’amm;_é,ﬁ—_w 1
4 ¢ il eab L e\ G| () - 5 Ay

How Halophytes are adapted to live in salty environment ? Comment

243 Haols oG4 J”m;éc..dwéuuu!/mé’ ¥| (®)
How structure of cartilage and bones correlate to their functions ? Explain
Explain the process of reflex action with the help of an example 4 Zﬁ-_’c_dﬁﬂ.f ._obu!f&u’cluﬂ (A) -fodlr

Describe the process of seed germination in detail 5 gguyc_dﬂ J’ b’ﬂ'lﬁﬁ (B)
Write down important objectives of Genetic Engineering 4 i;/’,uw‘ 1L £, .~lsﬁ? (A) ..7/,Ulr

46._,)/ /)o‘,kmﬂ t ¢ dnfelotsls | (B)

What are addictive drugs ? Write note on Narcotics and Hallucinogens
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in monohybrid crosses , F2 generation has the ratio of phenotype was
4:0 (D) 9:4:3:0 (C) 3:1(B) 9:3:3:1 (A)
ugz.&ﬂ/b’ut,.»[.-.@,lﬁéuu)gmuygmu@,zrut("’ 122
in ecosystem , the organisms that are responsible for the recycling of plant and animal wastes are
Decomposers J/b{dﬁ (D) Competitors ...y&ﬁf{ (C) Producers J/{Jg{ (B) Consumers /{/ (A)
Recycling of one ton paper can save ugzélgz_gzwua';ai,mwugw@b’cf.g -3
=31 17 trees (D) =35 18 trees (C) <30 15trees (B) =3. 10 trees (A)
A thick muscular structure present below the lungs is called +Jﬂf+&n:zr£&l//)c‘&nﬁé£wy§ <4
Branchioles )’zglx (D) Diaphragm (';&’5 (C) Tracheoles 2:..(/‘ (B) Alveolus kfif’-"-’ (A)
The structure that creates an insulating blanket of warm air in animals is ¢ 4.?&0;003‘}'!/.?45’ M()’{/Je -5
Goose bumps ud’ (D) Kidneys g:f (C) Lungs 4—2‘.’; (B) Dermis Uos (A)
S LK S S UMb ALK 6
The special neuroglial cells located at regular intervals along exons are called
Nodes of Ranvier Zsg/ 43734 (D) Schwann cells Ki# (C) Myelin sheath i‘.‘.’url (B) Dendrites ks ()
| ¢ o Db ot e $AS0UE ) b 7
How does vertebral column contribute to the over all supportito human body ?
It encases the brainfor'protection 4.(:%.{4.&3&?’/ bL}g (A)
It connects pectoral girdle to pelvic girdle g_bjﬁc.dﬁ)’.f:kﬂ‘#fdjig, (B)
None of these .ch..u.‘.ul (D) It provides main support to the body mass 4.?/(0'%1(?!{2._&;4.‘/.:?'2 (C)
gl Uit Swiafb3e0g, -8
Which application of biotechnology involves the production of insulin and interferon ?
Medicine L«,.u,zfu__a(B) Food and Agriculture el aldll i (A)
Genetic engineering -.(.ﬁ_,i.\.gmh.ﬂya (D) Environment <ilysala (C)
e Fcr bl Lo A R s f et
Which category of addictive drugs capable of being develop dependence or addictive ?
Analgesics Ll (D) Sedatives w={nisfgs (C) Norcotics %t (B) Antibiotics UL (A)

What is formed from ovule after fertilization ? ﬁ:.b'gva_iuﬁJUj”w!é:cﬁy’ﬂf) -10
Leaves (UR (D) Flower J# (C) Seed & (B) Fruit J& (A)

In most plants , the sporophyte is b defbousy R Ussg ks <11
Dominant /b (B) Small in size Jﬂ’ui'ilz (A)
Dominant and independent (7’6 (D) Independent .4 (C)

Pink flowered 4'o clock plant is an example of 4;-;)#&}0:45@@(}1!‘)&)»{.]1}’ ot oa? 12

Co-dominance u‘gdﬁif (B) Incomplete dominance u‘:fd:h);t (A)
None of these e 2yl (D) Complete dominance Ao (©
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Q.No.2 Write short answers of any Five of the following 5x2=10 é,g /qu/‘”"me éb c,uﬁd’lzw Z/JLV

| Write down symptoms of bronchitis . JUWJJ’UM i
What is double Pneumonia ? ¢ q_k(gx“‘}} ii
What is differenc; petween breathing and respiration ? b q.J)k(u!u?walf jii
Which organs work for homeostasis in humans 7 g u}L/rKd.ﬁ‘f"é‘ en il }Cfc:'uf iv
How kidney stones can be removed by lithotripsy ? T 4.(}cl-cf f’ d/t&)/ Z,)‘uf c..ﬁ};g v

What is meant by fight or flight ? Which system is responsible for that ?

§ et ¢ gt teSudd| vi

What is the function of Medulla Oblongata ? ¢ (KUYWAY | vi
Write down two main contributions of Ibn-al-Haytham z%fﬁl;)ﬁftf’!u:l ' viii
Q.No.3 Write short answers of any Five of the following _ 5x2=10  fein PLn Byt d it 340y
Differentiate the movement and locomotion ;uJA;Jrﬂ,,nw i
What is a bone ? Write its two functions éfgg/zrﬁuﬁdl s q_k@i i
What is meant by grafting ? T q..)l/g.:_..ﬁlf iii
What is meant by doubie fertilization ? ? el e FAAM| v
Write down the composition of Chromatin material ' é{f&)h&'fdt’/ \'
Define transcription é&gﬂ!ﬂﬂ/‘ vi
What is Genotype ? Also write names its types a!“r:L(u"tJm/,;i.an.,fw vii
Write two reasons for the selection of pea plant in genetics é/fuy!wtf&"{(/g—ﬁd—i digz | viii
Q. No.4 Write short answers of any Five of the following §%x2=10 i{f;&’?}ﬂﬁr‘f’étc‘.—g}:J:@) 4/Ulr
Herbivores are called primary consumers. Why ? ¢ uYZ..lk(fo /,y‘%/l//md/ i
What are the effects of excessive denitrification 7 $ ug{ath‘ﬂﬁu’-&'/cd}ug/ ii
What is permanent parasitism ? Give an example Zﬁ)dt* by q_&?'}"va iii
Define poliution 2’,{...2/7;{&)7 iv
Write down two uses of glycerol é;faﬂb’"’u&d;/’ \'
How can single cell proteins help in controlling pollution ? by q{&c);; 4&2./@;%&!7)&4” vi
What are sedatives ? Give an example 2t i | vil
What is the role of Joseph Lister in surgery ? $ q_lbf Q’Lﬁdz/b’/”-..j)z viii
(PART Il ) pgd dsma
NOTE : Attempt any two questions from this part 9x2=18 g‘:;/’:«glzéd'adlmc—&fc-gﬁ/w O
Write Osmo regulatory function of kidney 4 2‘.:,,//{)’a djé;glf?lb".:f (A) -5 g
What is meant by joints ? Write their types 5 2’;1]?‘\5'&:)’ s 4-:'/kfa'u’" k| (B)

2+2 e",ga?l-'m; c ‘-'u'p"}:.ut!rl/@'f/’ldﬂ'
Explain reflex action with the help of example and diagram
Describe the process of Spermatogenesis and Oogenesis 5 'éuwwz.w%mu‘#k/

@) -84

(B)

4 2 IS NGE SAAL i S

Write down the role of biotechnology in the field of food and agriculture

Describe the method of action of vaccines 5 éusz.djﬁ./g)’ % )Vg
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